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QUESTION 1

A team studies a coil steel banding process and makes five changes resulting in productivity improvements of 2%,
2.8%, 2.4%, 2% and 3% respectively. These improvements are best described by which approach to problem solving? 

A. 5S 

B. Poka yoke 

C. Kaizen 

D. PDCA 

E. Re-engineering 

Correct Answer: C 

 

QUESTION 2

An advantage of using standard deviation rather than range for measuring dispersion of a large sample is that: 

A. standard deviation has a simpler formula 

B. calculators have a standard deviation key but not a range key 

C. standard deviation uses information from each measurement 

D. range calculations are not normally distributed 

Correct Answer: C 

 

QUESTION 3

This table displays the inventory of fasteners in a storage cabinet. A bolt is selected at random from the fastener
cabinet. Find the approximate probability it is size 7/8. 
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A. 11 

B. .08 

C. .09 

D. .30 

E. none of the above 

Correct Answer: A 

 

QUESTION 4

Find the value of (1) in the ANOVA table. Assume: 
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A. 16.4 

B. 3.2 

C. 18.6 

D. 23.2 

E. 4.54 

F. 12.2 

G. 0.525 

H. 2.82 

I. 1.48 

J. 35.4 

K. 0.10

Powered by TCPDF (www.tcpdf.org)

Latest CLSSBB Dumps | CLSSBB PDF Dumps | CLSSBB VCE Dumps                                4 / 4

http://www.tcpdf.org
https://www.pass4itsure.com/clssbb.html
https://www.pass4itsure.com/clssbb.html
https://www.pass4itsure.com/clssbb.html

